[C2) ik mHT

X2 Tsil FABBAN)
# s BRA 62,365
ERAIT&E 3,085
FRYTA 19,696
iidi) 6,685
ZHET 7,046
=1L 27,533
78 K 4 1,676
mER 1,602
= HIT 2,470
[P ip 4,471
MEZFRAO 3,233
ABET @ = ZHET 1,683
fiE] A /)N B 2,462
bt B AR AT 4,575
EE ML AT 1,505
KERT—TEB 5,963
HinTEEXER 4,323
75 E SR 303
Y)\9;:3:CE:D] 4,297
WKET—TB 3,900
WKET=THE 2,338
SHE—TH 2,232
SHETZTH 3,926
EHBET—TH 5,618
EHETZTH 4,498
SCERHET 2,031
{E/RHT 10,490
AHE 681
HWLZTH 691
FH LA 1,338
& ILFE T Al 681
7K 3& st B A 483
BREW—TH 240
Nt = TH 759
FEEERE 2 1,355
Nt T B 383
INGTAR > TG 326
N T B 1,223
FERE R 983
3 Hh 75 ) #h Aif 260
FEERE T 6,393

20174 1R

100

) 3SR BEZEME

90
80

70 A
B0 o
50 A ———
40
30
20 A ———
10 A ———

0

72.9

3.0

N FIREH &

2.6
2.5

2.0

15

0.9

1.0

0.5

0.0

HiRERAT~HHE

HFLZTBE~TEIE XA

7%

HRERAT~HHE

FRAERES

93%

FWZTH~FEAE X

-1/1-




[C2-C3)iHHT - B RETE IR

20174 1R

(%)

100
90
80
70
60
50
40
30
20
10

0

3R BIRERE

72.7

(A)
4.0
35
3.0
25
2.0
15
1.0
0.5
0.0

FRE#R &

3.4

1.3

#1 R ERAT ~ SCEHT

ERET~R P&

X2 Tsil FABBAN)
# s BRA 16,018
ER A& 807
ARYTA 4,169
HEET 1,414
ZHET 1,788
=1L 5,068
78 K 4 360
FER 78
= HIT 215
FEXRMARE 627
MEZFRAO 1,115
ABET @ = ZHET 342
fiE] A /)N B 411
bt B AR AT 700
EE ML AT 89
KERT—TEB 936
WRET—TB 503
WIKET=TB 381
SR/ET—TH 323
SHE_TH 470
EHET—TH 827
EHBETZTH 567
X IR T 517
EiRAET 1,487
FEFNET 467
R FNET 457
BEEAH 367
FiRE AT 430
HiREE SR 262
FIRET = FHT 315
i RERA 574
% AT Al 1,067
Pt 643

FRAERES

14%

#1 iR ER Al ~ AT

86%

BRI~ R &

-1/1-




